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PHYSICS

A person of mass 80 kg jumps from a
height of 1 m and foolishly forgets to
buckle his knees as he lands. His body
decelerates over a distance of only 1 cm.
During deceleration, the total force on
his legs is (g = 10 m/s?)

(A) 800N (B) 880N

(C) 8080N (D) 80800 N

A man weighing 60 kg climbs up a
staircase with 20 kg weight on his head.
The staircase has 20 steps each being
15 cm high. If he takes 10 s to climb,
then the power is (g = 10 m/s)

(A) 24 W (B) 180 W

(C) 240W (D) 320W

A spring gun having a spring of spring
constant k is placed at a height h. A ball
of mass m is placed in its barrel and
compressed by a distance x. A box on
the ground is placed at a distance jd*
such that the ball lands in the boy#
distance ‘d’ is

kh 2kh

(A) g? ®) N\ *
kh kh

© e -x . (D) Sy

A ball of mass 2 kg experiences a force
F = 222 + x. In displacing the ball by
2 m, the work done is

(A) (4x2+2x)] (B) 20J
44 22
(€)' 57 @) 37

A wheel of radius r rolls without
slipping with a speed v on a horizontal
road. When it is at a point A on the road, ==
a small blob of mud separates from J# ©

(A) 4v\/§ (B) 2v\/;"~ ¥
o e L

6.

A body of mass m is moving with a
constant velocity along a line parallel to
the x-axis, away from the origin. Its
angular momentum with respect to the
origin

(A) is zero

(B) remains constant

(C) goes on increasing

(D) goes on decreasing

Two small satellites move in circular
orbits around the earth, at distance r and
r + Ar from the centre of the earth. Their
time periods of rotation T and T + AT
(Ar <<r, AT<<T) ;

3 Ar 2. Ar
(A) AT=-5T— (B) AT=3T

3 Ar Ar
© AT=5E= (D) MR=T—

A point P lies on the axis of a ring of
mass M and radius ‘a’, at a distance ‘a’
from its centre C. A small particle starts
from P and reaches C under
gravitational attraction only. Its speed at
C will be

2GM
N

(D) zero

The magnitudes of the gravitational field
at distances r; and r, from the centre of a

=
B

(A)
(B)
(©)

uniform sphere of radius R and mass M
are F| and F, respectively. Then

(A) F\/Fy=r/r) ifr, <Randr,<R

(B) F|/F,=r/c, ifr, <Randr,<R

(C) F/F,= rffrg ifr, <Randr, <R
(D) F/F,=r)r,ifr,>Randr,>R

ring of radius r and.mass per unit
gth m rotates with an angular velocity
_Iin free space. The tension in the ring is

(B) %mrz(nz

(D) Zero

DIRMDL
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11,

]2.

13.

14,

~wrong ?

The wires A and B shown in the figure
are made of the same material and have
radii r, and rg respectively. The block
between them has a mass m. When the

force F is %g‘ one of the wires breaks.

Which of the following statements is

’ e
(A) A will break before B ifr, =rg
(B) A will break before B if r, <2rg
(C) Either A or B may break if r, = 2rg
(D) The lengths of A and B must be known
to predict which wire will break.

A rectangular block of mass m and area of
cross-section A floats in a liquid of density p.
If it is given a small vertical displacement .
from equilibrium, it undergoes oscillatj
with a time period given by /

15. Three stars have "surface temperatures

T,, Tg and T. A appears bluish, B

appears reddish and C

yellowish. One can conclude that
(A) T,>T>Tg (B) Ty>Tg>T.
C) Tg>To>T, (D) Te>Tg>T,

appears

16. A thermometer has wrong calibration
(it has marks at equal distances and the
capillary is of uniform diameter). It
reads the melting point of ice as — 10°. It
reads 60° in place of 50 °C. On this
scale, the temperature of boiling point of
water will be

(A) 110° (B) 120° (C) 130° (D) 140°
0.75 g of petroleum was burnt in a bomb
calorimeter which contained 2 kg of
water and had a water equivalent = 750 g.
The rise in temperature was 3.0 °C. The
calorific value of petroleum is

(A) 7500 cal/g (B) 11000 cal/g
(C) 12000 cal/g (D) 15000 cal/g

The average degree of freedom per
molecule for a gas is 6. The gas
performs 25 J of work when it expands
at constant pressure. The heat absorbed
the gas is

18.

’AEE f m f e} 3 757 (B) 100J
(A) 2 W (B) 2 Ap & { '-;"_f_Cl 1251] (D) 150)
Amg D g 19. )“A gas undergoes a process in which its
©) 2‘-‘17\/ (D) 21\ [ AmAL "‘\_ 4 p;_éssure P and volume V are related as
p ‘?9 \._____,f) 4 - -
When a capillary tube is dipped in % ph = constant. The ’bulk modulus for
liquid, the liquid rises to a height h in the the gas in this process is s
tube. The tube is now pushed down so A) nP (B) P (C) — D) PP
that the height of the tube outside the (s RSBl s )
liquid is less than h. Then, 20. Two cylinders A and B fitted with pistons,
(A) the liquid will come out of the tube contain equal amounts of an ideal diatomic
like a small fountain. gas at 300 K. The piston of A is free to
(B) the liquid will ooze out of the tube mave, while that of B is held fixed. The
slowly. : same amount of heat is given to the gas in
(C) the liquid will fill the tube but not each cylinder. If the rise in temperature of
come out of its upper end. the gas in A is 30 K, then the rise in
(D) the free liquid surface inside the tube temperature of the gas in B is
will remain hemispherical in shape. (A) 30K (B) 18K(C) 42K (D) 50K
A liquid of density p comes out with a 21. The solar constant for the earth is 1. The
velocity v from a horizontal tube of area of surface temperature of the sun is T K. If the
cross-section A. The reaction force exerted sun subtends an angle 0 at the earth, then
by the liquid on the tube is given by y (A) 1 e 0* (B) N @3
(A) Av (B) Avg (C) Avp (D) Avp- (C) e 62 (D) <6
6 RIMPA
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(B) TentHiAsaefR-Rame Fwmam
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(D) Teft & 3R A 59 Y AMBR ¥ 3N
- AEm
14. 3y uRees 8%d A arell U &fast Teft 3
T P BITH ST ATV A IR FFa w18 159
ERT el W S T wfafhar ae &
(A) Av (B) Avg(C) Avp (D) Av?p

BIMP6

15, dRaRisySRammE T,, T, W T 81A
e el g1 &, B et wrefta g @ iR C
et wieftal €laT & 1 5% aE Frepd Frapaan s 6
(A T >Tn>Tn (B T,> 1T,
e T, >T, D) T>T>T,

W%@?WWWW%BE

T B b — 10° gga1 € 1 98 50 °C &

RIH W 60° UGl & | 39 Thdl W, TR BT
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 Ygiferm & 0.75 g B TP a9 barmnd §
St 11 for 2 kg ot o 3R Rt sia

q&® 750 g o | aEE A g 3.0 °C oft |

I &1 FART &

(A) 7500 cal/g (B) 11000 cal/g

(C) 12000 cal/g (D) 15000 cal/g

18. % & ford 9l 3 3iraa wdaa @ i
6 2 139925 J &1 1 vl & via RR T@ R
& yqIRd Y & | 9 gy ey Sen ®
(A) 751 (B) 100J
(©C) 1251] (D) 1501

19. & I v ufpan @ oRd & e saeaE
P T4 aiga V afiawe VP! = fRRi% &R
wag | 39 ufea 4 i 6 R s
TR TOTT &

(A) nP  (B) P (C) % (D) P

0, freasgd=1de A td B %300 K RU&

gt R e @ wE ann el T
P e ) & ford vaci=1 & waf B &1fRR
TR | TS 9o | I &1 ST B UHaaH
G 1Al A i % arer § gfe
2, B H, sammHigigs

T % R Wi P ) & | g @ v
aaE T K 8 1 3fe gedt = g 0 vy gamen &,

GE
(A) ne<6? (B) me<6’®
(C) 1 e 6? (D) N
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23,

24,

25,

26.

Five rods of the same dimensions are
arranged as shown. They have thermal
conductivities k;, k,, kj k; and k.

When points A and B are maintained at
different temperatures no heat flows
through the central rod. It follows that

(A) k,=k,and k, =k,
k! k2

B) =17

(B) k, "k,

(©) kk,=ksk,

(D) k[k4=k2k3

A Camnot engine is operated as an air
conditioner to cool a house in the summer.
The air conditioner removes 27.9 kJ of
heat per second from the house, and
maintains the inside temperature at 293 K,
while the outside temperature is 314 K.
The power required for the air conditioner
under these operating conditions, in SI
units, is closest to

(A) 2790 (B) 2000

(C) 2930 (D) 3140

A gas expands by 1.2 litre at a constant
pressure of 2.5 bar. During the expansion
500 J of heat is added. The change in the
internal energy of the gas is

(A) 2001J (B) 3001J

(C) 700J (D) 8001J

16 g of oxygen and 14 g of nitrogen are
mixed in an enclosure of volume 10
litres and temperature 27 °C. The
pressure exerted by the mixture is
(A) 0.49 x 105 N/m?2

(B) 0.98 x 10° N/m?

(C) 1.98 x 105 N/m?

(D) 2.49 x 105 N/m?

In Ingenhausz experiment, the wax
upto-4 cm and 8 cm on bars A and

respectively. The ratio of thermal®s
conductivities of A and B is

1
WL ®2 ©; O3

27. If the root mean square speed of the
molecules of hydrogen at S.T.P. is 1.84
km/s, then the root mean square speed of
the molecules of oxygen at S.T.P. will be
(A) 0.46 km/s (B) 0.92 km/s
(C) 3.68 km/s (D) 7.36 knmv/s

The linear density of a vibrating string is

1.3 x 107* kg/m. A _transverse wave is
propagating on the string and is
described by y = 0.02 sin (x + 30 1)
where x and y are in metres and t in
seconds. The tension in the string is

(A) 1IN (B) 1.17N

(C) 1.3N (D) 39N

A string of length 0.4 m and mass 102 .
kg is clamped at its ends. The tension in
the string is 1.6 N. When a pulse travels
along the string, the shape of the string is
found to be the same at times t and

t + At. The value of At is

(A) 0.05s (B) 0.1s

(©). 0.2s (D) 045

30. - A stone is dropped into a well and its
splash is heard at the mouth of the well
after an interval of 1.45 s. The velocity
of sound in air is 332 m/s. The depth of

~ the well is nearly
(A) 5m (B) 7m
(C) 10m (D) 15m

31.  An open pipe is suddenly closed at one end,
as a result of which the frequency of the
third harmonic of the closed pipe is found to
be higher by 100 Hz than the fundamental
frequency of the open pipe. The fundamental

frequency of the open pipe is
(A) 200 Hz (B) 240 Hz
(C) 300 Hz (D) 480 Hz

32. When we hear a sound, we can identify
its source from
n,  (A) the frequency of the sound
N(B) the amplitude of the sound
(") the wavelength of the sound
#(1}) the overtones present in the sound

33. ) A 'set of 56 tuning forks are arranged in
) ~series of increasing frequencies. Each

ning fork gives 4 beats/s with

/preceding one. If the frequency of the

last fork is 3 times that of the first, then

frequency-of the first fork is

(A) 100 Hz (B) 110 Hz

(C) 120 Hz (D) 90 Hz



22.

=1 qEE W @1 9T 8, 99 Fid v d
PIg S vaIRd T2l 8l & | 309 31 e
gfe

(A)

(B)

©)
(D) kk,=kok,

T § U BR BY TS1 B & o’ T FEI
2 D1 T IR HUSIIFR & U H Haferd faar
TS | TR BUSIER BR 9 27.9 k] FE i
JHUS BCHT & 3R <X BT a9HH 293 K w®
IR &Ral & Siafd aER &1 aEE 314 K
R | T YT IR § @R BUSITR & ford
a9y vfew, SI 3HT1S #, 39 Advcad e

(A) 2790 (B) 2000

(C) 2930 (D) 3140

T M9 2.5 bar & Frad T/ WX 1.2 ofiex | yaiRa
B & | R & SR 500 J FT S IRA & 1T
P3RS St # uRadT &

(A) 20017 (B) 30017

(C) 7007J (D) 80017

AT 27 °C Td e 10 ofiex & U ars 3

16 g 3ifaiioF Td 14 g RIS B fAfdE

fearomaT® | R ERT RIS B
(A) 0.49 x 10° N/m?

(B) 0.98 x 10° N/m?

(C) 1.98x10° N/m?

(D) 2.49 x 105 N/m?

SOIETSY WA, Bl A U9 B W fige .
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1
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29.
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K ;

e <1 Ud AT R BIggIo & 310l
tayl-Aegd o 1.84 km/s &, 99 qH®
| QIO R SiTRATSE & 3t 3 -

ffeg el arel 8
(A) 0.46 km/s (B) 0.92 km/s
(C) 3.68 km/s (D) 7.36 km/s

U6 H R B SKI B Wad g
1.3 x 107 kg/m ¥ | U SR TR SK R

W PN TE ¥ IR U9 I H SR §
= (.02 sin (x + 30 t) 9ET x Wd y HexH &
3Rt qpvSH IS ATAITE

(A) IN (B) 1.17N

(C) 13N (D) 39N

gagqH 1072 kg T4 TS 0.4 m 3 T SR
FFE RRI RN e s Faa@ 1.6 N 8 159
U e SR IR 7 IRar &, 99 SKI $1 MHR
Wt®t+étwwwm%lm
PBIHFE

(A) 0.05s (B) 0.1s
(C) 0.2s (D) 0.4s
TP R Udh ¢ A IRMET T ¢ 3R 39d

BUIH B e Y S g W 1.45 s & =R

% UTar g gsdl & | 9 H €y @1 A

332 m/s & | P P TERTS AT

(A) 5m (B) 7m

(C) 10m (D) 15m

TH Gol UgY b Ua RR B omEms g I
ST & FIP HoRawy dg Ugy & dR At
@ AMgRT Gl I13Y B qo AGRT F 100 Hz
31fere UTS IRt & | gl TSy Bl e Mg ©

(A) 200 Hz (B) 240 Hz

(C) 300 Hz (D) 480 Hz

Si9 89 U S B G €, 99 39S A1 B
o fufeea fearonwaan &

R % e @1 gfear Ry &) Ao &
oy fopaT ST & | U TR 319 9 U

/A 4 Prere/s @ d | afy afad e

amgfie
(A) 100 Hz (B) 110 Hz
(C) 120 Hz (D) 90 Hz



34. A person standing between two parallel

hills fires a gun. He hears the first echo s

speed of sound is 332 m/s, then he/pal
hear the third echo after y

A 328 (B) 3.6s
(C) 40s (D) 45s

35. An engine whistling at a co t

It goes past a stationary observer
standing beside the railways track. The
frequency (n) of the sound heard by the
observer is plotted against time (t).
Which of the following best represents
the resulting curve ?

B2 A By B A
t t

153 od 00 G VL] L EF1
t t

36. In a resonance column experiment, a
long tube open at the top is clamped
vertically. The first and the second
resonances occur when the water level is
24.1 cm and 74.1 cm respectively below
the open end. The diameter of the tube is
(A) 2cm (B) 3cm
(C) 4cm (D) Scm

3 Springs of spring constants K, 2K, 4K,
8K, , 2048 K, ..... are connected in
series. A mass M kg is attached to the _

period of oscillation is

M
@) zn\/_ =
M
(C) 2mA (—K -

38. A particle executes simple harmonic
motion of period 1.2 s and amplitude
8 cm. Find the time it takes to travel
3 cm from the positive extremity of its

oscillation. Given cos™! (0.625)=51°
(A) 0.1s (B) 0.17s
(C) 0345 (D) 0.51s

(B) 2n

e
Y

10

\ -
: S L’ sy
frequency moves with a constant spe¥d, - ’

4 o

39. A body executes simple harmonic
motion under the action of a force F,

both the forces FI and F2 act

simultaneously in the same direction on
the body, its time period will be

2 7 12 24
(A) 58S (B) 58 © 758 (D) 758

40. Two identical charged spheres are
suspended by strings of equal length.
The strings make an angle of 30 ° with
each other. The density of the material of
the sphere is 1600 kg/m>. When the
system is suspended in a liquid of
density 800 kg/m?, the angle remains the
same. Then, the dielectric constant of the
liquid is
(A) L6 (B) 20 (C) 24:- (D) 3.0

41. A half ring of radius R has a charge of A

per unit length. The potential at the
centre of the half ring is

O - S =

A 1
© lc‘ﬁ“ (D) kmA (k— e 0)
42. A charge Q is distributed over two
concentric hollow spheres of radii r and R
(R > r) such that the surface densities are
equal. The potential at the common centre is

(A) 4ne | R+r ®) 4ne, R-r
1 Q(R-1) 1 QR+1)
,; ) %ne (R2+r2)( )4116 R2+12) -

A radioactive source in the form of a
e / metal sphere of diameter 1.2 X 10> m
emits beta particles at a constant rate of
6.25 x 1019 particles per second. If the
source is electrically insulated, how long
will it take for its potential to rise by 1.0
volt, assuming that 80% of emitted beta
particles escape from the surface ?
(A) 833 pus (B) 6.67 us
(C) 45ups (D) 3.33ps

TRAR AT,



P’ 36‘

3 TR GEIfeEl & 4t @e1 ve afR va,
I ST & | S| uH Aty 1.5 s of
maﬂ?@ﬂz.sﬁfmwrﬁsﬁ%o

34.

o ft 3 A 332 s ¥, 9 e AR \S [

wfcEafy g1 Wy & geEq g

(A) 32s (B) 3.6

(C) 40s (D) 4.5

R amgfRy & it qumar gan sfom v RR
a1 | e ¥ 1 98 3 B veht & IR @
U% fRR N&@ & U A ol § | &b gRI
Gt 7 eafy 3 angf (n) B W (1) S W
fafa fea s & 1 Feafofea & @ a4
gRorrt ash %1 wel W A gl 2

2N

t

(2

t
TS IS & ST #, o 0% Geft v ot
el BT SRR FoIr fhar T ¥ | yow vg
faa srgTe o’ o € o ga RR & R
Il &1 R HH: 24.1 cm U6 74.1 cm ¥ |
TN PTARE
(A) 2cm (B) 3cem
(C) 4cm (D) S5cm .
w g K, 2K, 4K, 8K, ...,
2048 K, ..... arelt Gl Soft 59 3 it
SR & | 3ifam HE & e RR @ gamm &
kg B 4 ST & AR P B R ARy - |
AT ® | ST B 37ad B &

M M
(A) 21:'\/_ 7K (B) 2::-\/%

/2M M
© 2\ [F% (D) 4n’\/%

TP HUT I 8§ cm T4 A B1ed 1.2 s A
TXA AT T P RETR | 39D SIe b GIHD
WA RR A 3 em T 7@ FA F a1 wwg
a2 e cos™! (0.625)=51°
(A) 0.1s (B) 0.17s
(C) 0.34s (D) 0.51s

3s.

B) N

(A) B

gy 15 e

37

38.

N

Pl & 1 IR g WM 99 (F 3R F,) to &)
e 3 uep s i €, 7@ smmad Frer erm

(A) %s (B) %s. (©) %s (D) %s
3 UHHAM ARG M THEHE TEE P
SIRGT A TR T € | ST v g 9 30°
H1 B g & | el b ueR] &1 g
1600 kg/m® & | v Ferm & w9d
800 kg/m® & wa ¥ SreHrT T ¥, TG BT

TFEIEA1 | T4, 59 BT RS &
(A) 1.6 (B) 20 (C)'24 (D) 3.0

35u1 R @1 U 31 Bedl &1 39 9 ST
T A 131 Bodl b g W AW &

40.

41.

A A
(A) kg B) kg

gk o

41{60)
oar r @ R R > 1) & <) W9a<1g @@
el R U 9 Q 39 UHR faafd farsirar &

© K& ©) ki =

42,

(s @) il
.‘ 0R+r 4neo R-r1
1 QR-1) I QR+r)

X G ity ® Toe; @22

.. - -

43, = 1.2 x 103 m a1 7 g 3 1 3 w9

# o Yeamfea s 6.25 x 1010 o ofy
JAPHvS P fRR X A dier sor Iafsig a2 =1
& | 3 e fgga e &, 99 599 a3 1.0
atee 3t gfg @R 3 R W o, T A

B1MP6 1

&2 o Seufra dier o &1 80% Y & yamas
FRAETE |

(A) 8.33ps (B) 6.67 us

(C) 45ps (D) 3.33ps

1



44.

45.

46.

47.

An infinite number of identical
capacitors each of capacitance ¢ = 1 uF
are connected as shown in figure. The
equivalence capacitance between A and
B will be

et
I
HHHHHHHH

cccccccc

[-] o

A B
(A) 1pF (B) 2uF
1 1
(C) FHF (D) 7 MF

The permittivity of diamond is
1.46 x-1071 C2/N.m2. The electric
susceptibility of diamond is
(€,=8.85x107'2 C3/N.m?)

(A) 165

(B) 155

(C) 1.37x107'0 C2/N.m?

(D) 1.25x107'0 C2/N.m?

A simple pendulum of length / has a bob
of mass m, with a charge q on it. A
vertical sheet of charge, with charge ¢
per unit area, passes through the point of
suspension of the pendulum. At
equilibrium the string makes an angle 0
with the vertical, given by

(A) tan™! (ﬁ} (B) tan™! (

__] 209 _l
(C) tan (e “mg) (D) tan

A conducting sphere of radius R, -

carrying charge Q, lies

uncharged conducting shell of radius 2R. '

If they are joined by a metal wire, then
amount of heat produced is

. o
(A)tme R()41te R
93 7 4

© Zne 2R ® ze 4R

12 -

48. A and B are two points on a uniform
ring of resistance R. The ZACB = 6,
where C is the centre of the ring. The
equivalent resistance between A and B is

(A) 4u2 (2n-6)6 (B) R(l‘—)

) 2:: 0
©) Ry @ RE=

9. © N identical cells, each of em.f. E and
* internal resistance r are joined in series.
Out of these, n cells are wrongly
connected i.e. their terminals are
connected in reverse of that required for

: 3 N .
series connection. For n < 5 the

resulting system will have internal

resistance

(A) N-n)r (B) (N-2n)r
-1

©) £N_r_l (D) Nr

50. A current of 5 A is passing through a
metallic wire of cross-section area

4 x 107° m2. If the density of the charge
carriers in the wire is 5 x 102%/m>, then

the drift speed of the electrons is

(A) 1m/s (B) 11_6 m/s
1 1

© EV) m/s (D) o4 m/s

51. A milliammeter of range 10 mA has a
coil of resistance 1 Q. To use it as an
ammeter of range 1 A, the required shunt
must have a resistance of

1 o
) To1 (B) Top £
© %n (D) 0.99 Q

52 ‘ ',Two electric bulbs rated at 25 W, 220 V
_/and 100 W, 220 V are connected in

" series across a 220 V voltage source.

The 25 W and 100 W bulbs now draw P,
and P, powers respectively, then

(A) P =9W.P,=16W

(B) P =16W.P,=9W

C€) P =16W,P,=4W

(D) P,=4W,P,=16W



TRRM R 913 U& UM Bodl R 31 fag

3% aiRar ¢ = 1 uF 9/l 3F< N
\

wenRa 1 for & SR SieT e | A )g: ¥ B & @101 ZACB = 0, Wi C Bei &1 .
bt '§E”mﬁﬂ_§1ﬁ J'ﬂﬁ.’ | A T B & dra waged wfokm &
1 P 4
- R
“c ”c ﬁ(zn-e}e (B) R(l“%]
— < (©) R‘% (D) R——zt;e
-ICHCHCHCHCHCHCHCI— oot A el s von ¢
d : i ara N gost A i 3 91 o € 1579
(A)AluF (B)'Zpl; ; A n A Tad sire A 9 & of i aofisw
©) %HF D) %HF e # anavas Sire ¥ fawia gk cfiAa s
o@ 10 < % R, TR e @
45. &R & qrEr 1.46 x 10710 szN.m2%| S et
R R wafr & (e, = 8.85 x 10712 (A) (N—n)r (B) (N-2n)r
i) S
B) 15.5 50, e aReT dwe 4 X 1076 m? T TF
©) 137x10°°C¥/Nm? ug $ARY 5 A PRTATRT I & 1A
(D) 1.25x%10719 CZ/N.m? IR & Y aEP! BT EE 5 x 1020/m’ &,
T SAaCT) B YATE TS &
46. TS | % UD GRe QTod H GAFHF m BT UH I . 1
& R T T TR q & | 9R 5T dehe I (4) 1mis (B) 1gm/s
farg A ol & | TR #, S SEkR @
Por 0 T & o 5 ey R o ® 51. ¥ 10 mA & T& freficsiet 3 useh @
A _(_oq TR 1 Q& 1A 1 A F TR B
{0 [2& Omg] {8y, n [e omg} TRE T B F o, AMaead we &1 wiR
2wl =20 % oq
(C) tan ][EJn;_] (D) tan '{
Jmg 4ne jmg 28
(B) 1009
47. Prou R 17 greid Mo, o w= e (D) 0.99 Q

&, fiow 2R IR 0% Tt STRRE AT, Gf\ 52 2_§ W,/220 V @@ 100 W, 220 V R fuiRa

arre R & 1 Tf 378 7 8 % AR ERT ST \Ju._L 2} g e 1@ 220 V A 41 3 Aofien
ST E, 79 S FHT DI AT E TR TR E 13@25 W T 100 W F acd
A P, w4 P, aife wied €, 7@

s 2 2
(A) ——4;6 -2%(;3) 4;6 % (A) P,=9W,P,=16W
o o B) P,=16W,P,=9W
- L @t a0 2 2
i § _ (D) P,=4W,P,=16W
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53

54,

55,

56.

(D O

S

(D) decreasing length of potenti

The sensitivity of a potentiometer can be

increased by '

(A) increasing e.m.f. of the cell.

(B) decreasing e.m.f. of battery of main
circuit,

(C) increasing length of potentior

wire

A conductor AB of length L, ca

straight conductor XY carrying a current I,

as shown. The force on AB has magnitude

1
A—J.—B
iLr s
Xi
U i
(A) “é'—fn 2 (B) —'.’n 3
2uOIi 3].1 Ii
(D)

2n

A horizontal ring of radius r spins about
its own axis with an angular velocity ®
in a uniform vertical magnetic field of
magnitude B. The e.m.f. induced in the
ring is

(A) Brlo
(C) m’w B (D) zero

In the loops shown, all curved sections
are either semicircles or quarter circles.
All the loops carry the same current. The
magnetic fields at the centres have
magnitudes B,, B,, B;, B,. Then

(B) %Brzm

(A) B;>B,>B,> B;(B) B,>B,

(C) B;>B;>B,>B,(D) B,>B,>B,>B\

A current of 1 A is flowing in the sides of an
equilateral triangle of side 4.5 cm. The
magnetic field at the centroid of the triangle is

(A) 1x 107 weber/m?
(B) 2 x 10~ weber/m?>
(C) 4x107 weber/m?
(D) 8x 1075 weber/m?

58.

60,

61.

62.

63,

14

A thin magnet is cut into two equal parts
by cutting it parallel to its length. If one
part is vibrated in the same magnetic
field in which the original magnet has
time period T, then the time period now

iL T
L ith): 29 () > (D) 2
hich of the following is a
aramagnetic material ?
(A) Copper (B) Aluminium
(€) Gold (D) Water

The rm.s. value of em.f. given by
E = 8 sin ot + 6 sin 2wt volts is

(A) 10 volt (B) /50 volt
(C) 5 volt (D) /82 volt

An inductor of self-inductance 5 H and
resistance 100 Q is connected in series
with' a battery of e.m.f. 10 volt. The
maximum rate of increase of current is
(A) 0.25 A/s (B) 0.5A/s

(C©) 1.0A/s (D) 2.0A/s

A 50 Hz a.c. of crest value 1 A flows
through the primary of a transformer. If
the mutual inductance between the
primary and secondary be 1.5 H, then
the crest voltage induced in secondary is
(A) 100V (B) 200V

(C) 300V (D) 400V

A charged particle begins to move from

the origin in a region which has a uniform

magnetic field in the x-direction and a
niform electric field in the y-direction. Its
is v when it reaches the point

). The speed v will depend

ly on x

both x and y, but not z
n X, y and z '

particle with a specific charge ‘s’ is
fired with a speed v towards a wall at a
distance d, perpendicular to the wall.
What minimum magnetic field must
exist in this region for the particle not to
hit the wall ?

W3 ®F O O pr

DIMDL



53.

1o favaard @t gareed ¥ g R B o
T &
(A) FasfemaEs@iffaas 4
(B) 7w uRu @t Jedt & fega ares aeijpl
HETHR
(C) fawawmdt ar &t ovars # afg H |
(D) favawTdt aR &) TS B ET IR | K
54. 9R1i 9 yafRd TS L H10% F1eid AB, GRT1
 yaifed o e arere XY & orEdd T Tn
&, S s qufar & | AB Ra@ w1aRamr e
Yi
p L
L—
M, i p i
(A) _fn2 (B) Eln:i
211 li 3u,li
D)
55. ﬁw:mwéﬁvm,wﬁmB%
THEHH SR PEEH & § PO AT 0 4,
9 B 37T IR WEHUT I V8T & | Bodl A ARG
f@-aes-aas
(4) Bro ®) 3Bro
(C.) nroB (D) I
56. =9 T ol ¥, Wi G A A Al AEgT &
1T 71, <ft o U URT R &
& & | s W gEPE &3 & wRamT B, B,,
Bj! B4§I?‘|’6l

T @ P

(A) B4>B >B2>B3(B) Bl>Bz>B3>'
(©) B4>B3>Bz>B (D) B4>BE>B] B

ol 4.5 cm Il P FAfaTg Brpet %
1 A g safed 21 2E & | Bl & 1o 7 W
JEPIALAE

(A) 1x 1073 weber/m?

(B) 2x 1075 weber/m?

(C) 4x 1073 weber/m?

(D) 8 x 1073 weber/m?

57,

B1IMP6

A"

15

. U a0 GG B SAP! AT B AR &

RTaR I § BTt AT & | o gr b P 3
wanaaﬁwmfm%tsﬁqaaaugﬁ

61.

PR SATa BIcT &

J 1

: ®) 2T (C) 7 O Z

Red 3§ | 1 T FHEPIT ISR & 2

(A) diar (B) veafifrm
(€) w|F (D) r
E = 8 sin ot + 6 sin 2wt 9 d A W
farega-aTe-at 1 a7 WXl el A §
(A) 10dkee (B) /50 aiee
(C) Sdare (D) \82ax=

WIS 5 H wd 7 100 Q &1 7 IRbed
i § fRgd-aed-ad 10 diee 3 e @
TS | 9RTH 3fE B AETH IR S

(A) 0.25 A/s
(€) 1.0A/s

(B) 0.5 A/s
(D) 2.0A/s

62.

R aRTAM 1 A @ @ 50 Hz weamadt arT
T ZRABIR & TS | warfed 8 <@ 1A
seifivas v Rt & e oI 3kaed 1.5 H,

21, 74 fgfias § 9Ra Rrer dicearw &
(A) 100V ° (B) 200V
(C) 300V (D) 400V

el ¥ @ AR F1 T & 3§ T TR
e & Rt x-fReen # v v gEwE
&1 & 3l y-Rre # va v R & |
Wugﬁﬁ{x’ Ys z)“m%ﬂamﬂ]ﬁ
1T v 39 R PR et g

%
(A xR
A
( Xy W, qﬁ_f,zwqﬁ
{D) X yWz®w

64, "@ﬁ‘ﬂ'ﬂaﬂﬂﬂ s’ AATH PorEA v A d T
wﬂ?maﬁmaﬁaﬂnﬁm%mmm

& | g9 &= ¥ b <aH graa & B

m%ﬁaﬁmé’m?m’r%eaaﬂaﬁm
2
WY ®F O O g



66.

67.

69.

70.

> “Ashort linear object of lcngth ‘b’ lies
n—aﬁmg

(C) 4and6

o Mge axis of a concave mirror of
focal ‘tength f, at a distance u from the
mirro - the size of the image is

29" @ D)
) ol

A transparent sphere of radius R and
refractive index L is kept in air. At what
distance from the surface of the sphere
should a point object be placed so as to
form a real image at the same distance
from the sphere ?

R R T
(A) 5, DR € u—l(D)

ptl

Two thin lenses, when in contact,
produce a combination of power +10
dioptres. When they are 0.25 m apart,
the power is reduced to +6 dioptres. The
powers of the lenses, in dioptres, are

(A) land9 (B) 2and 8

(D) five each

A telescope consists of two convex
lenses of focal lengths 16 cm and 2 cm.
If object subtends an angle of 0.5° on the
eye, then the angle subtended by its
image will be

(A)°2°" @) 4° (C) 8° (D) 16°
The diameter of aperture of a plano-

convex lens is 6 cm and its maximum
thickness is 3 mm. If the velocity of light

in the material of lens is 2 x 108 nvs,
then the focal length of lens is

(A) 30cm (B) 40 cm

(C) 50cm (D) 60 cm

A glass prism of angle 60° and refractive

index 3 is immersed in a liquid of 4

. i .
refractive index 3 Find the angle of §

minimum deviation for a parallel beam @
of light passing through the prism.

(sin']@') = 38.6°J

(A) 17.2°
(C) 38.6°

(B) .19.3°
(D) 34.4°

16

?1.

72.

73:

74.

e

76.

The resolving power of a telescope
depends on

(A) the focal length of eye lens.

(B) the focal length of objective lens.
(C) the length of telescope.

(D) the diameter of objective lens.

Two nicols are crossed to each other.
Now one of them is rotated through 60°.
What percentage of incident unpolarised
light will pass through the system ?

(A) 12.50% (B) 37.5%

(C) 45% (D) 52.5%

An excessively thin film will appear in
reflected light as

(A) white (B) black

(C) red - (D) yellow

Sunlight filtering through a tree often

makes circular patches on the ground

because of

(A) the space through which light
penetrates is round

(B) the scattering

(C) the diffraction

(D) the interference

Choose the correct statement from the

following :

(A) The diffraction fringes are never
equally spaced.

(B) The diffraction fringes are always
equally spaced.

(C) In the diffraction pattern, only
bright fringes are equally spaced.

(D) In the diffraction pattern, only dark
fringes are equally spaced.

In a Young’s double-slit experiment, let
P be the fringe width and I be the

intensity at the central bright fringe. At a.
distance x from the central bright fringe,

the intensity will be
(B) 1, cos? @

I cos (%)

“EaN(3) o (3

Jcons are at a separation of
e net force between them is F,

1f both ‘are neutrons, F~J if both are

r is a neutron Then,
(A) F,>F,>F; (B) F,>F, >F,
(©) F =F,>F; (D) F,=F,>F,

.



. 65, WMFWWGWW#IMWU (" . Y aﬁﬁﬁﬁmwwﬁﬁ?aﬂeﬁ%
T b” 7 T oI Y g e 1 1 1 w1 e R
St fr 2 A 2 u R R | A T TR % A B I TG TR
o \ _ aﬁaﬁﬂéw
. NY: ) N ) A EREK NN
u- ! i
(A)-Bl—+ B)" bl == was ﬁwfﬁwwqwﬁaﬁﬁa%meﬁﬁ
(f) o (“_f)z Waﬁﬁ“ﬁqﬁmﬁmm%lﬁ?ﬁm%
ok f !
©) b(uT‘) D) b(u__"{') : gvrﬁ smufera sngfaa wprer &1 wfrera a1
(A) 12.50% (B) 37.5%
66. g 1 gd a1 R &1 96 uRasiS e (C) 45% (D) 52.5%
Y ¥ TGN | U fvg 9% Bl 7Med & o 9 73. U i eel e Wl webTer  welta
o gt o vt g oy e i @ et 5@ &
% g et R a2 ' (Aewinn (Bl
2 i i (C) =@ (D) R
(A) m (B) uR (©) u—l(D) Y 74. TP US A B @ AR HHIY B Gl W
' i e 39 HRUT A a1 B
67. e g, o i &, Wi S + 10 (A) & T STET A TR ORI E, T8 er &
SRR B fRT e € 19199 0.25 m THRE, Eg; fad ;;;T
j’q’&lﬁﬁﬂw+6maaﬁﬁ%|m (D) @fiaRor % TR
H, e afe g A
ek e e 75. Pl % o w9
(C) 4T 6 (D) Wl tifa () %Wﬁ‘ﬁ‘ﬁwiﬁ“ﬁ
_ |
68. TS gradfi # Biew @ 16 cm T 2 cm (B) ?aﬁ:rﬁﬁgﬁmqmﬁ@qqgﬁt—ﬁ
. T 3 SO o § 1 A g 1A | 0.5° BT : .
FreniE e 6 @'aafi“gg;mwmm“”
: . w® |
Ay 2° (B) 4° (©) 8 ADy:16° (D) ﬁaﬂaggmmmw
69. U GH-ITIcl ol b ERP BT AN 6 cm & 3R _Tﬁm I :
o i A 3 mm & 1R A e SR BRI LR AR
qert ¥ yeTe 1A 2 X 108 m/s &, a9 o &1y b b g [ & | =i ahe
PP FALE Rreor & x GO TR, et
(A) 30cm (B) 40cm X .
: = Tl =
(C) 50 cm (D) 60 cm (A) 1, cos(ﬁ) (B) I, cos (B)
I
70. IUTEAIE 5 31’!?3%“160“?@@351?{33&?# (C) 1, cos? [%) (D) ‘fcos2 (%)
aﬁmﬁ%%aﬁaﬂﬁ ’ BN | 77 AR | AR e
3 o T s B Y oo 1 oRomf 9w F, & af oW g §, F, d
i < e & iRk Fy & A 1 et o
THE 199
c =1 § L ° e 3
(S‘“ [8]’38'6) (A). F,>F,>F; (B) F,>F >F,
(A) 17.2° (B) 19.3™ (C) F,=F,>F; (D) F,=F;>F,
(C) 38.6° (D) 34.4°
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78.

9.

81.

82,

4

(B) v \ﬁ'
' 4
(C) lessthanv \/%

The activity of a sample of radioactive
material is A, at time t; and A, at time

ty (t, > 1)). Its mean life is J#=

(A) Aty =Ast,
A-A il
(B) "E'z_—tl=con -

©) A,= Ale“l L
D) A=A

When white light (violet to red) is
passed through hydrogen gas at room
temperature, absorption lines will be
observed in the

(A) Lyman series

(B) Balmer series

(C) Both'(A) and (B)

(D) Neither (A) nor (B)

When a hydrogen atom emits a photon
of energy 12.1 eV, its orbital angular
momentum changes by

(A) 1.05x1034Js (B) 2.11x107347Js

(C) 3.16x1034Js (D) 4.22x 10734 Js

A gamma ray photon of energy 2.2 MeV
produces an electron-poesitron pair. The
kinetic energy of each of the charged
particle so produced is

(A) 0.59 MeV (B) 1.02 MeV

(C) 1.18 MeV (D) 0.51 MeV

In a photo-emissive cell, with exciting
wave length A, the fastest electron has a
speed v. If the exciting wave length is

3A .
changed to B the speed of the fastest

emitted electron will be

3
@ v\

4
(D) more than v ’\/%

18

83.

85.

86.

87.

A bW el

An o-particle of energy 5 MeV is
scattered through 180° by a fixed
uranium nucleus. The distance of closest
approach is of the order of

(A) 1 A ‘B) 100¢m

(€) 102 cem (D) 107 em

The combination of gates shown in
figure gives

A'-—-D E[D
B >
(A) AND gate (B) NAND gate
(C) NOR gate (D) NOT gate

For a transistor, current gain o0 = 0.96. It
is used as an amplifier in a common base
circuit with a load resistance of 4 kQ. If
the dynamic resistance of the emitter-
base junction is 48 €, the voltage gain is
(A) 40 (B) 80 (C) 120 (D) 160

An electromagnetic wave for its D layer
has electron density N = 400
electron/cm’ and frequency v = 300 kHz.
Its phase velocity is

(A) 3x108m/s  (B) 3.75x108 m/s

(C) 24x108m/s (D) 1.2x10%m/s

The atomic numbers of U, Ba and Kr are
92, 56 and 36 respectively. In the fission
reaction 2PU+ 'n —» 4!Ba + 92Kr +
neutrons, the number of neutrons
produced is

(A) 0 B) 1 (Cy2 D) 3
A reverse bias p-n junction has -

(A) very narrow depletion layer

(B) almost no current

(C) very low resistance

(D) large current flow

station  emits
| . . .
) electromagnetic waves uniformly in all

4\-( . -
< %/ directions. How much energy per second

crosses a 1 m? area 1 km from the
transmitting antenna ?

(A) 3.5kW (B) 35W

(C) 3.5mW (D) 3.5uW



78.

79.

80.

81.

82.

T YRR wenl & @ T @ afbaar
R, RA BARWREL WA, R
(ty>1t)) IsTH iR amg T &

(A) At =Axt,

Aj=hy
Lok
(C) A=At~ DT
(D) A,=A,eTi—%)

(B) = fRRT®

94 ahe UHTE @ § oA 9F) BN b
qOHA W BRSO M d oRdl 2, 99
Sraeyor ¥ g qrRft o

(A) g Aofi d

(B) PR i

(C) (A) '@ (B) HiH

(D) Fdi(A) #98(B) |

SIq U BIggIoF WA FHoli 12.1 eV &1 (&

Bl Iafia Hear e, aawﬂiaiaﬂuﬁnﬁu'

A H WRadT BT ®
(A) 1.05x1034Js (B) 2.11x 10" 34Js
(C) 3.16x1073*Js (D) 4.22x10734Js

FHolt 22 MeV &1 Th TR fRor BieH U6
FOIF-UTIZ I 7 S HYT & | §9 TPR

IO IS AR HU1 B 1S FHorf &
(A) 0.59MeV  (B) 1.02MeV
(©) 1.18 MeV (D) 0.51 MeV

fordt wepTeT IO Ul | Sooid N S A &
R e g A TR v & | AR SeeE

el WRa e 20 @i, i e

19

83.

85s.

86.

87.

88.

89,

FHult 5 MeV &1 TF o1, :

1 gRT 180° ¥ W)
IPHAA P DI B

A) 1A

(C) 1072 cm

R <ol e HrEaoE STy
Be—ro

(A) AND e (B) NAND e
(C) NOR e (D) NOT e

T giforex & fordl, o afd o = 0.96 39
T IHAFTS IR 9RO ¥ &t ufavm 4 kQ
& R qE & Y H HA o o & 1 At
S B-3MER Wi BT e 9fa=w 48 Q ¥,
q9 dlecal ey &

(A) 40 (B) 80 (C) 120 (D) 160

. fagagree w1 & D wd & forR
gadgH Bd N = 400 electronfcm-’f 3R
mgfr v = 300 kHz 8 I SAST ST a8

(A) 3x1083m/s  (B) 3.75x10% m/s
(C) 24x108m/s (D) 1.2x 108 m/s
U, Ba U4 Kr &1 WRHIV] W1 Ha9: 92, 56
v 36 & | fave aififrar 235U + 'n -
141Ba + 92Kr + =qgi #, Seq=1 ggHi @
Ry

(50 (@1 () 2

0% 4g9 9199 p-n SR idl/Ean e
(A) 3y daol grit TR

(B) eI YIERI

(C) afa=gauferm

(D) RS IRTUETE

e 44 kW e wed @i Rl
THEIH WU A feagrae a3 SeafiiE e
@l & | fhaft sat ufa davs Juor ¢fen |
1 km g% 1 m? &=l A BI} o W& 8 ?
(A) 3.5kW (B) 3.5W

(C) 3.5mW (D) 3.5pWe

(D) 3



91.

92.

93.

9.

95.

stances are expressed as
R,—(4H"‘O)ohmandR2—(12 +0.5)
m,/@h they are connected in
en the net resistance with
um percentage error is

(A) (16 £0.5) ohm

_(B) (16 +1.0) ohm

(C) (3 +22.92%) ohm
(D) (3 £0.25) ohm

The dimensional formula for bulk
modulus of elasticity is

(A) [LY] (B) [MLT2

(©) ML?T?] (D) [ML7'T?

If a body travels half its total path in the
last second of its fall from rest, then total
time taken in travel is

(A) 4s B) (2+2)s
(C) 3s (D) 2s

An aeroplane is flying in a horizontal
direction with a velocity of 540 km/hr
and at a height of 1960 m. When it is
vertically below the point A, on the
ground, a body is dropped from it. The
body strikes the ground at point B. The
distance AB is

(A) 3.0 km
(C) 9.0 km

(B) 5.4km
(D) 10.8 km

A car is travelling at 30 m/s on a circular
road of radius 300 m. It is increasing in

speed at the rate of 4 m/s% Its o
acceleration is J *}f",),
(A) 3 m/s? (B) 4 m/s? /" s
(0) 5mys? (D) 7 m/s?

the lift moves up w1lh an accelerations
equal to the acceleration due to gravity,
the reading on spring balance will be

(A) zero- (B) 2kg
(C) 4¢ (D) 4kg

96. A 4 kg block A is placed at the top of 8
kg block B which rests on a smooth
table. A just slips on B when a force of
12 N is applied on A. What is the
minimum horizontal force F required to
make both A and B move together ?

Ay

B |—F
T777777777777777
(A) 36N (B) 30N
(C) 24N (D) 18N

97. A particle is projected over a triangle
from one end of a horizontal base and
falls on the other end of the base. If o
and B are the base angles and 0 is the
angle of projection, then
(A) sin©®=sin o+ sinf
(B) cos@=cosa+cosP
(C) tan©=tan o+ tan
(D) cot®=cota+cotf

98. A mass m is hung with a light
inextensible string as shown in the
figure. The tension T, is equal to

oy 3 (B) 3 mg
mg 2mg
© 3 ® 7

99. A particle slips from a height 4 r from an
inclined plane which ends into a loop of
radius r. The normal reaction at the

1:5.
T~ highest and the lowest point of the loop
\\_{* spectively are
"2 (A) 3mg,9mg  (B) 4mg 8mg

20

) 0,6 mg (D) 3 mg, 6 mg
.l(ﬂ /A ball of mass m moving at speed v collides

-1// with another identical ball at rest. The
kinetic energy of the balls after collision is

three fourth of the original kinetic energy.
The coefficient of restitution is

1 1 1
W; ®FOF OF
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91.

92.

93.

9.

95.

q wiRw R, = (4 £ 0.5) 3@ W
R, = (12 % 0.5) 31 & 39 9 & | 5@
I TR BH A SIS 9ET &, 99 g
Wi aiftraem wfverd 37 & TRy

(A) (16 £0.5) &

(B) (16 *1.0) 3

(C) (3 £22.92%) 3irr

(D) (3 £0.25) 3

Wmmﬁmﬁﬁuﬂa%

(B) [MLT?
(D) ML'T%

A) LY
(©) [ML’T?

afe va avg fasm srven AR W |
e Aepve § qut 9 T STET AT Bl 8, 79
ETH forn TRl @A

(A) 4s B) (2+42)s
(C) 3s (D) 2s

TP EAEWEN 1960 m #H FAR W
540 kmv/hr % 3 9 &fdw Ren A Ssw@IE |
g e fag A & TR 919 8, Ta Rt R &
g 39 iRl ot & | g kA R Ag B
WM E ITHABE

(A) 3.0km
(C) 9.0km

(B) 5.4 km
(D) 10.8 km

6 R 300 m B areft gefg 9 «®
30 m/s @ 9T J AT B E ¥ | T8 4 m/s?
PR A A I TR Y | TR RIR
(A) 3 m/s? (B) 4m/s?

(C) 5m/s? (D) 7 m/s2

7 fowe # Sreater aRf T HAHH

Tfrefiet BY, T@ SHFIER el 1 AT
(A) (B) 2kg

e |
(C) 4g (D) 4kg

97.

98.

99.

PEPTTETETIIITIY
(A) 36N (B) 30N
(C) 24N (D) 18N
T B3y & &fs TR & ta RR @ v B
& neRre fapam T & ofR 98 R & TR RR
wfiRaT & 13fY o vd B MR BT E SR 0
TEY BT, 7@
(A) sin®=sino+sinf
(B) cos 8=cos o+ cosf
(C) tan®=tan o+ tan P
(D) cot®=coto+cotf .

TP B! AT SN @ THH m dCHIl
a1 & S 6 o 3 qwin 8, A T, @
¥

() (B) \3 mg

2
©) % (D) -j’—‘f
T 3Hd 91 Q S8 4 r F TP HY 39 ISR
fbarerar & f SwaT W Us Broanr & oqu A
BT & | U & Segad v geaw fagelt ®
aifYera wfafepan waer: &

(A) 3mg,9mg (B) 4mg,38 rrig
(C) 0,6mg (D) 3mg, 6 mg

. =T v 9 e g@EE m @) Us i s

IaRT WX YA U HEY e | TH! ¥ |
WHE % YTIT 51 B RIS Sot ARG i

ot B o TS R | ST 0N
1 1 1 g3
(A) 5 (B) N3 © N D) 3



2. Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-1 of the Answer Sheet
in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the circles
corresponding to the digits be blackened with Blue / Black ball point pen only.

I & -1 F e @ W et TR/ w % B A/ - ® g A s

Mwmﬁﬁlm%maﬁﬁwwwaﬁqﬁ%ﬂ/mwﬁﬂﬁ gt
fak fieft / wrett dier @R 99 § WY | .
Example : If Roll No. is 179682 and the Question Booklet Npgis

IR Ffs et = 179682 & o] TRt ST 14394 &) §

ey e
PPPOOOROOO|
POPOPROOO®O| v
XX R E
X o rrer e
PPRARROO OO
PPPORAOOO @] -
PPROPEROO® O~
PPRAAAOOOO|w
X el
00P0RPRPOPOH6| o

(©) Process for Filling up OMR Answer-Sheet (I7¥-Usih Uré-2 &t 7 &1 ufshan) :

1. The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

W Fg-fashed THR & € | Tels T & for el forehen SeRi F @ et uw € waifus sugee & | et @ e
W& % Faltue Iuga faehed & WA & G-y et st =it / el siel @mee 37 @ € T ¥ | 3R B sikar
et =i GfeT | TTT & Ot ST STR-UA i g Y T S |

Example: If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question no. 7 as
shown below :

| ﬂﬁwm‘;%f‘m{faﬂm‘ﬂ'aﬁmﬁ ﬁmmﬁmﬁ%mﬁmﬁﬁaﬁ%ﬁm&n&%m
TR

Q. No. 1
Q. No. 2

2. (a) The circles, as described in C-1 above, are to be darkened by using Blue / Black Ball Point Pen only.
(%) IRIFT HH C-1 7 T T4 IFER Tt Bl el / Hreft aier @rge 9= §RE T |
(b) The shading should be dark and should completely fill the circle.
(@) et it PIET F 51T TG T AT AT |

Continued on the back cover page.

0 : 23 . (418 & arraror 5""‘“‘“ A



(c) Only one circle corresponding 240 &e{;nmt-anspe ghould be darkened as shown below :
a1 e e T ¥

Incorrect/ T (B @ @ (, OdF\.® O o @ @@ © or ®® 000
Incorrect/ T (B @ ¥ © \ ) r O0@0 « OWGHO
Incorrect / 7o @.@@ g

(d) The candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle using Blue/Black ball points pen as no change in answer once marked is allowed. Use of
eraser or white / correction fluid on the answer-sheet is not permissible as the answer-sheets are machine
gradable and it may lead to wrong evaluation.

(%) ST Tt i <Aietl / el AT @I e ¥ T F g anaelt 97 X wve ghfree w1 o e a3 E e
waifes wEl et H 77 @ E, Fie Mot F TR F i R wem afom ¥ | IR-Em H { R i e wwa
T 59 ¥ frem it arpAfa et < Tl R, i ST-uaeh i /e BRI Hedited fRar ST & 3R g s O
i | 3 & wehdt € |

(e) Ifmore than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
manner or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.

(¥) 3K UF | 31 et it Aedl / HieAl Siet SRS Hers & TN AR 47 I Ha) 377 FHR ¥ 30T F9 a1
T TR ¥ e feRar ST |t 39 e S fear s |

Rough work must not be done on the OMR answer-sheet. Free space provided in the question booklet should only
be used for this purpose.

Torelt SR T e T ITR-Th O TR AT & | 5 G- g g @l W e e &, 3wt o e
HH H |

“Bar Code” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the candidature
will be rejected.

T W BY AR HIE” W e F1 i ol T ST 99 e ??ﬂaﬁﬁmﬂﬁiﬁﬁ#i‘m.
et < S T S | /¥ .

Candidate must not leave any mark of identification f§

Answer Sheet as this may lead to disqualification, § ',

FTR-G9% & -1 T SIRET 39 T Rha 37 T O e ﬁé#ﬁimwaﬁmﬁﬂ;m
FGITFAT L Y T FHeA ¢ |

For verification of your handwriting, it is necessary to write i préscribe ext completely which is printed on the

backside of the Part-1 of OMR answer-sheet and also put your mgnature on specified space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.

7. AR IR0 & Te-1 % TS 3ifeher merier s FrenER 31+ gwatt § gof w9} ferma st g s
et evem it 3 Fwrifte wom Rt | Tty it & forg 9 rfemd @ | G Tt o3 W aae SeR-uee / SwdieEnt
T ¢ R ST |

In case you do not follow the instructions as given on the backside of OMR answer-sheet, your answer-sheet is
liable to be rejected for which you yourself will be fully responsible. ;

T S 3H.TH. 3. Ie-0rh % 78 7 3 et kPt hr vt 1t oo, = amrrepr st <% P o e
¢ Forass forg e @ ot w9 @ seRerlt et

24 B1IMP6



